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Question : 1 
Who is sitting at the seventh place counting from left? 
a) H 
b) C 
c) J 
d) Either H or C 
 
Question : 2 
Who among the following is definitely sitting at one of 
the ends? 
a) C 
b) H 
c) E 
d) Cannot be determined 
 
Question : 3 
Who are immediate neighbours of I? 
a) BC 
b) BH 
c) AH 
d) Cannot be determined 
 
Question : 4 
Who is sitting second left of D? 
a) G 
b) F 
c) E 
d) J 
 
Question : 5 
If G and A interchange their positions, then who 
become the immediate neighbours of E? 
a) G and F 
b) Only F 
c) Only A 
d) J and H 
 
Question : 6[S.S.C. (CPO) 2012] 
5 friends are sitting on a bench. A is to the left of B but 
on the right of C. D is to the right of B but on the left of 
E. Who are at the extremes? 
a) A, B 

b) A, D 
c) B, D 
d) C, E 
 
Question : 7[S.S.C. (10+2) 2013] 
Five boys A, B, C, D and E are standing in a row. D is on 
the right of E. B is on the left of E but on the right of A. 
D is on the left of C, who is standing on the extreme 
right. Who is standing in the middle? 
a) B 
b) C 
c) D 
d) E 
 
Question : 8[I.B. (ACIO) 2013] 
There are five different houses, A to E, in a row. A is to 
the right of B and E is to the left of C and right of A, B is 
to the right of D. Which of the houses is in the middle? 
a) A 
b) B 
c) C 
d) D 
 
Question : 9[S.S.C. (FCI) 2012] 
Six children A, B, C, D, E and F are standing in a row. B 
is between F and D. E is between A and C. A does not 
stand next to either F or D. C does not stand next to D. 
F is between which of the following pairs of children? 
a) B and E 
b) B and C 
c) B and D 
d) B and A 
 
Question : 10[M.A.T. 2013] 
Five senior citizens are living in a multistoried building. 
Mr Muan lives in a flat above Mr Ashokan, Mr Lokesh 
lives in a flat below Mr Gaurav, Mr Ashokan lives in a 
flat  above  Mr  Gaurav  and  Mr  Rakesh  lives  in  a  flat 
below Mr Lokesh. Who lives in the topmost flat? 
a) Mr Lokesh 
b) Mr Gaurav 
c) Mr Muan 
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d) Mr Rakesh 
 
Question : 11[S.S.C. (10+2) 2013] 
15In a gathering seven members are sitting in a row. 'C’ 
is sitting left to 'B' but on the right to 'D'. 'A' is sitting 
right to 'B'. 'F' is sitting right to 'E' but left to 'D'. 'H' is 
sitting left to 'E'. Find the person sitting in the middle. 
a) C 
b) D 
c) E 
d) F 
 
Question : 12[N.I.F.T. (UG) 2014] 
Who is at the lowest position of the stair? 
a) A1 
b) A3 
c) A5 
d) A2 
 
Question : 13 
Who is sitting in front of R? 
a) U 
b) V 
c) Q 
d) P 
e) None of these 
 
Question : 14 
Who is to the immediate right of R? 
a) M 
b) U 
c) M or T 
d) Cannot be determined 
e) None of these 
 
Question : 15 
In which of the following pairs, persons are sitting in 
front of each other? 
a) MV 
b) RV 
c) TV 
d) UR 

e) None of these 
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